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QUESTION 1

You are configuring an AMS 2000 system to be part of a HCP 500 appliance solution. Which types and numbers of
LUNs are required per HCP node as a minimum configuration? 

A. two OS; two data LUNs 

B. one OS; two data LUNs 

C. one OS; one data LUN 

D. two OS; two data LUNs 

Correct Answer: B 

 

QUESTION 2

A company\\'s finance and legal departments do not share any data and should not be able to access each other\\'s
data; The legal department only accesses data using an application that is integrated with HCP using REST. The
finance department requires users to be able to browse data using Windows Explorer. What do you tell the customer? 

A. The finance department should be setup as the default namespace and the legal department should have their own
namespace. 

B. The finance and legal departments should use the default namespace. 

C. The finance department should have their own namespace and the legal department should use the default
namespace. 

D. The finance and legal departments should use different directories in a single namespace. 

Correct Answer: A 

 

QUESTION 3

In a SAIN based HCP solution, which RAID protection scheme is considered standard use with an AMS 2000 system? 

A. RAID 5 (6+1) 

B. RAID 6 (5+2) 

C. RAID 6 (6+2) 

D. RAID 5 (7+1) 

Correct Answer: B 

 

QUESTION 4
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Your customer deleted a replication link running between two HCP systems. Which two statements are true relating to
the tenants and namespaces previously included in the link? (Choose two.) 

A. The same replication link can be re-established to resume replication. 

B. The tenants and directories included in the deleted link cannot be replicated again to the same replica unless they
are first deleted from that replica; 

C. The HCP tenants and namespace included in the link remain and become read-write on both the primary system and
the replica; 

D. The HCP tenants and namespace included in the link remain read-write on the primary system and read-only on the
replica; 

Correct Answer: BC 

 

QUESTION 5

Which two statements describe the HCP offline upgrade procedure? (Choose two.) 

A. An upgrade must start with a healthy system. 

B. The customer can read but cannot write data during the upgrade. 

C. Nodes come-up in read/write mode after the reboot. 

D. Nodes automatically reboot during the upgrade. 

Correct Answer: AD 
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